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24.

The answers for Parts A and B will vary. The following represent possible answers. The yellow
lines represent the 0.35 distance that the speaker projects and the blue line represents the length

of wire.
Part A Part B
=
. torcade——~ it . torcad
- Lil.‘J,pol_n q - %t p()lnt : 2 Linpol.n q - Mp
Memorial = Memorial =
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T'homas i‘

Jehiirson “‘\

memori.! @
| y 2
--‘lj
- Concert area

©  Power supply for long-distance speakers
s Presidential motorcade route

| N IR I N N
0.10 0.20 0.30 0.40 0.50 miles

Length of wire: 0.32 miles

Thomas

]efferson

- Concert area

©  Power supply for long-distance speakers
s Presidential motorcade route

| N I I N B
0.10 0.20 0.30 0.40 0.50 miles

Length of wire: 0.25

Part C

distance = 0.9 miles
time = 5 minutes = 0.083 hours

v=—=——-—=10.8 mph

d 0.9
t 0.083

Part D

distance = 0.9 miles
speed = 30 mph

d d 09

v=—=t=—=——=0.03 hours (or 1.8 minutes)

t v 30
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